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Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS.
Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in SINDHI in Devanagart script.
Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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SECTION A

QL. fe=i garen TgzTEe EH T T 150 AU H dvehiat Are forat : 10x5=50

(a)

(b)

(c)

(d)

(e)

ferameor =1 oy foreefy < ufes am S e,
HeTs I TEfer ¥, gged @R § mieed, ! 10

¥ 3ier $ 2R, & =R fa o gt
% wfufats 7 wefew, & 7 o qf,
Sffer Afg Feter aft, <ffer S awmert feer € | 10

faerer vy @18, Wiy ghfen fe 4,

SRR IR RCQUIE R R

I A B €, Hel hF T,

S Ol o e, @ SIef foet wne A | 10

T O3 32 9y Fier] T off oY € faW & 31gn AiNg off fomrm | foReii am !
I 381 Micitg fadier ag 9z gie @ Midesy ar sie s« 1 “Cgelt d
e QB A& T 10

s e TEeeT it geft ufe § =it refiy iy seR et @ 7 e, ¥
%Y gl aal | 10

Q2. el gamet o wame forat : 20+15+15=50

(a)

(b)

(c)
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“SE oTegw @t ufes wmsdist H wEEl TS S8 S HAT MMM |7
firarer 28 wgeml | 20

fagre @t dis & fGeft vt S < fohae ¥ g0 G & w1t S qehidt Simsel
Tl | | 15

“Trreor v TGt wmgder § His[et Tatg gud S e @1 gHe Ja7 a7 q9je]
el fIu o1 3R |7 Hef fohame “Tem B1at’” S YR d ST | 15




Q3.

Q4.

Tieata o s sar forat 20+15+15=50

(2) et sy ufes arst fagfr § e gear 9w s enfgf |7 wrEl fag w

& foemer S8 wggmn | 20
(b) W3 Arcreoii & Ak “ufgen Afe qfgen’ w7 TS @ higsl dew o A ?
Iresh o R 9 fer@t | 15
(¢) @rteT 9fes vedrerty # e sreq wiger =R g3 %= i 2 15
Tieat gara s sare ot - 20+15+15=50
(a) E9a 9 dfede HIRgH o | gieaek ¥ gfea dwH 4 foran | 20
(b) HRH AT A dedid S ER o IR T AT A0 St f3p amht A1esh wrent
FeTH il gL HIERTS ATeH TR ? 15
) “frgre @i qiz I faefl ww St 527 fohae ¥ wms MEwA wRdlet o foftgas
g wivast o s’ # Fo7 fs= | 15
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Q5.

Qs.

Q7.

SECTION B

et garen Tgese TWiEw o TN 150 TEAN § daw<hidt Tre fora 10x5=50
(a) Toeit dicfier 0 fa ofgsn = Ssmera &1 Sifet s gusi o | 10

() Teferer Tesr o we=n fhfeg @l e guu a1 sfel, w sifEer 9w g
anTfgl, Tror TR | wu WIS Uigl We U §fed] AR | 38 Walleh Sl dien 3T

g dar SR | 10
(¢) Tt srousdt SRER U vIgHg It Fiell 2118 | hig 1o dielist ¥ 38 @rfaaq dsfg
offfez] st sisfe 37 o gerdes T qu 7M1 gedene ¥ verht gt e | 10
(d) “org s d ofics g7 e ® wnfie foeor 9 foer Feft forg 1 10
(e) ufgsl givrar, Faeran @ foewew @ 4 st 7 uor @ way fg omR | @
YRA o W o d13 St foat T@u @13 s9eme W] shad At @l | 10
tieaf garats w sera fora 20+15+15=50
(a) IS S ded S SR O gURT G H50 Weamit “gq g’ et forgor A
SRt g STy forat 31me 2 20
(b) “TeEgw St wE” gegd A el wiHtere Siqarisr sigel How e ey 2
S o 3MYR d @l | 15
() <t s5d & o GehIg’ T g HIET | 15
oA garat s sae forat 20+15+15=50
(a)  “Tw Har St U A 1. =seRd freafier s Amem’ fawy o e ot | 20

(b)  “gefisrer ger @1 fagfea” mifaa S Gloyg guse Tifaa St wmret=qT wiEn | 15

() Y&l Iqme=geiiel St Fu7 FHEON UG HI Hlee! Havll doal @ el Haraw off
P ? geflel 33 T | 15
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)8, EfEat garat o wama forat ‘ 20+15+15=50

(a)

(b)

(c)
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‘et el U “SeT st shaTivig e St giedek § oTast %9 wiE | 20

“gi Ty 3oy foe gomclier # 3 wanfay wmofiel ¢ wfiel oime ¢ fech foet foch
gfea ot § refigh it wwe € gwe @1y @vft 3 og | 381 diwdist Sft
frarfier A ol it Sie & o @0 3 AR o117 |7 Held ATHHAT I YR o
Gie! T | 15

AR AT & foreerer Aoy ol wafd’ @ afestty el | Qe fosn 1 15







